
  1 

47,3 + 0,9 = 

53,6 + 0,7 = 

452,2 + 0,7 = 

480,2 + 0,6 = 

458,4 + 0,8 = 

61,8 + 0,3 = 

date prénom : 

A 

Rallye-calcul : étoile violette 

250,3 = 

548,7 = 

35,4 = 

+ 

+ 

+ 

+ 

+ 

+ 

+ 

+ 

+ 

0,7 + 

0,3 + 

= 1 

= 1 

0,8 + 

0,2 + 

= 1 

= 1 

0,4 +  

0,5 + 

= 1 

= 1 

< 0,3 < 

< 45,7 < 

< 3,9 < 

< 532,2 < 

< 49,3 < 

< 7,8 < 



  2 

56,3 + 42 = 

97,2 + 27 = 

249 + 15,7 = 

368 + 22,5 = 

65,5 + 13 = 

127,3 + 58 = 

23,5 × 10 = 

482,3 × 10 = 

30,6 × 1 000 = 

52,7 × 10 = 

592,7 × 100 = 

63,9 × 1 000 = 

Rallye-calcul : étoile violette 

7 × 329 = × 300 + × 20 + × 9 

= + + 

= 

5 × 623 = 

= + + 

= 

× 100 + × 10 + × 1 

60 ÷ 8 = 

27 ÷ 6 = 

85 ÷ 9 = 

38 ÷ 4 = 

39 ÷ 6 = 

50 ÷ 6 = 

r = 

r = 

r = 

r = 

r = 

r = 


